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2015-01-22  |NoiASl ZR3E 224 10,000[30Ms
2015-01-22  |NoiAS SR3E 201 5,000[32CMs
2015-01-22  |NoiASl SRBE 294 5,000[z4cMs
2015-01-22  |NoiAS SR3E 2101+ 10,000] & & CMS
2015-01-22  |NoiASl SRIE 2 5,000[z4cMs
2015-01-22  |NoAEl =822 2 s 10,000] & & CMS
2015-01-22  |NoiASl SRIE 2 5,000[z4cMs
2015-01-22  |XI°iASl 22 E 20l 5,000[52CMs
2015-01-22  |NoiASl SRIE 25 5,000[z4cMs
2015-01-22  |XI°iASl 22 E e 5,000[52CMs
2015-01-22  |NIoiASl SRIE 25 3,000[z4cMs
2015-01-22  |XI°iAS SRS E 2 E 5,000[52CMs
2015-01-22  |NoiASl SRIE 52 10,000[ 3 0Ms
2015-01-22  |XI°iASl 22 E S8 5,000[55CMs
2015-01-22  |XIoiASl SRIE 542 5,000[52cMs
2015-01-22  |XI°iASl 22 E 5t 5,000[55CMs
2015-01-22  |XIoiASl SRIE 5t 4 3,000[52cMs
2015-01-22  |XI°iASl 22 E 0/ 4+ 10,000] & & CMS
2015-01-22  |N°iASl SRIE =T 5,000[52CMs
2015-01-22  |XI°iASl 22 E 01 g 10,000] &4 CMS
2015-01-22  |XIoiASl SRIE Sl 5,000[52cMs
2015-01-22  |XI°iASl 22 E 012+ 10,000] & 4 CMS
2015-01-22  |XI°iAtSl SRAE 0124+ 5,000[52cMs
2015-01-22  |NoiAE SRHIE 0%+ 5,000[55CMs
2015-01-22  |XI°iAtSl SRAE 0/ets 10,000] 5 &CMS
2015-01-22  |NoiAE SRIE 0/24+ 10,000] &4 CMS
2015-01-22  |XI°iAtSl SRAE 0/24x 5,000[52CMs
2015-01-22  |NoiAE SRHIE 0l i+ 10,000] &4 CMS
2015-01-22  |XI°iAtSl SRIE 0] &1+ 5,000[52CMs
2015-01-22  |NoiAE SRIE 0+ 10,000] &4 CMS
2015-01-22  |NoiASl SR3E 0= 5,000[52CMs
2015-01-22  |NoiASl SRAE 0/ T+ 5,000[55CMs
2015-01-22  |NoiASl SR3E 0/ T+ 5,000[32CMs
2015-01-22  |NoiASl SRAE 0/ 5,000[55CMs
2015-01-22  |NoiAsl 2822 o 3,000[52CMs
2015-01-22  |NoiASl SRAE L 5,000[55CMs
2015-01-22  |NoiASl 282E 5% 10,0005 & CMS
2015-01-22  |NoiASl SRBE & 5,000[55CMs
2015-01-22  |NoiASl SR3E e 5,000[52CMs
2015-01-22  |XIoiASl SRAE 2ol 5,000[ 5 5cMs
2015-01-26  |KI%AISl 2RBE SrsnssE 100,000

2015-01-26  |XIoiASl SRHAE 0 5,000
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82 2015-01-26 KNSAe SJASS sk 5,000
83 2015-01-26 KNSAte 2233 OIOtE XL &+ 3,271
84 2015-01-26 KNS SJASS Ol &f 10,000
85 2015-01-28 KANSAe 2233 2 5,000
86 2015-01-28 KNSAe SASS L& 5,000
87 2015-01-28 KNSAte 2d=3 S 20,000
88 2015-01-28 KNSAe SASS S 10,000
89 2015-01-28 KNS 23=3 Fal=iy 10,000
90 2015-01-28 KNSAe SASS 2|+ 5,000|=
91 2015-01-28 KNS 2d=3 ZE 5,000|%
92 2015-01-28 KNSAe SASS Rk 5,000|=
93 2015-01-28 KNS 2SS Z00* 5,000
94 2015-01-28 KNSAe SASS 2 0[* 10,000
95 2015-01-28 KNS 2@=3 LS+ 20,000
96 2015-01-28 KNSAe SJASS R 3,000|=
97 2015-01-28 KNS 23=3 i 5,000|%
98 2015-01-28 KNSAe SJSS e 20,000| 5
99 2015-01-28 KNS 2@=3 e 5,000
100 2015-01-28 KNSAe SASS H 10,000
101 2015-01-28 KNS 23=3 Al 20,000
102 2015-01-28 KNSAe S/SS e 10,000|=
103 2015-01-28 KNS 2@=3 H2* 5,000]|%
104 2015-01-28 KNAe =33 B~ 5,000|=
105 2015-01-28 KNSAe SdSS RSk 5,000
106 2015-01-28 KNSAe SRASS 2 & 5,000(=
107 2015-01-28 KNSAe SdSS RS 5,000|%
108 2015-01-28 KNSAe SASS 25+ 10,000|=
109 2015-01-28 KNSAe SdSS &7 20,000
110 2015-01-28 KNSAe SASS O 224 % (=) 30,000
111 2015-01-28 KNSAe SdSS Otoh = 5,000
112 2015-01-28 KNSAte 2833 2 10,000|=
113 2015-01-28 KNSAe SJSS B S* 10,000|=
114 2015-01-28 NAAE 22 S3 EONL 3,000|=
115 2015-01-28 KNSAe SJSS Br=« 5,000|=
116 2015-01-28 KNSAte 2833 HH 2= 5,000|=
17 2015-01-28 KNSAe SJSS NE* 10,000|=
118 2015-01-28 KNSAte 2833 NS+ 3,000|=
19 2015-01-28 KNSAe SJSS A& J|* 50,000
120 2015-01-28 NAAE 22 S3 o1&~ 5,000|=
121 2015-01-28 KNS Ae SJASS Ol &+ 20,000
122 2015-01-28 KNSAte 2333 Ol 7+ 5,000
123 2015-01-28 KNS Ae SJASS Ol =+ 5,000
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124 2015-01-28 SEASE 0121« 10,000
125 2015-01-28 SES3 01=+ 3,000
126 2015-01-28 SESE Ol &f 10,000
127 2015-01-28 SES3 Ol Al 3,000
128 2015-01-28 SESE Ol 0i 10,000
129 2015-01-28 SESS Ol =+ 3,000
130 2015-01-28 223 Ol &« 10,000
131 2015-01-28 223 Ol off 5,000
132 2015-01-28 223 &0+ 5,000|=
133 2015-01-28 223 HEx 5,000|%
134 2015-01-28 223 & 5,000|=
135 2015-01-28 223 oll* 10,000
136 2015-01-28 223 TH = * 3,000
137 2015-01-28 223 ESEE 20,000
138 2015-01-28 rek== ESeley 5,000|=
139 2015-01-28 223 St 3,000]|%
140 2015-01-28 rek== Shafx 5,000|=
141 2015-01-28 223 o & J|* 20,000(&
142 2015-01-28 rek== ol 7 5,000|=
143 2015-01-28 223 =% 3,000]|%
144 2015-01-28 rek== S3* 10,000
145 2015-01-31 223 HE* 20,000
146 2015-02-02 =3 LAl 5,000|=
147 2015-02-02 223 HH & 5,000
148 2015-02-02 =3 Ol &f« 10,000|=
149 2015-02-02 223 Sl 5,000|%
150 2015-02-02 =3 =+ 10,000|=
151 2015-02-09 223 2 & 10,000
152 2015-02-09 =3 Soll* 10,000
153 2015-02-09 223 2 H 5,000
154 2015-02-09 =3 Fabety 5,000|=
155 2015-02-09 223 R 5,000|=
156 2015-02-09 =3 & ahx 5,000|=
157 2015-02-09 223 Rk 5,000|=
158 2015-02-09 =3 BE+ 10,000
159 2015-02-09 223 Bh 2 10,000|=
160 2015-02-09 =3 HH &= = 3,000|=
161 2015-02-09 223 B &b« 20,000
162 2015-02-09 =3 20| 5,000|=
163 2015-02-09 223 Ol 2+ 20,000
164 2015-02-09 223 Ol * 5,000
165 2015-02-09 223 Ol Al * 5,000
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166 2015-02-09 KNSAe SJASS Ol=x* 5,000 = 4CMS
167 2015-02-09 KNSAte 2233 Ol XH * 5,000 4CMS
168 2015-02-09 KNS SJASS Ol'all* 10,000|2 &4 CMS
169 2015-02-09 KANSAe 2233 Fabx 20,000| &4 CMS
170 2015-02-09 KNSAe SASS TH S * 5,000 = 4CMS
171 2015-02-09 KNSAte 2d=3 ZI 2% 10,000|2&CMS
172 2015-02-09 KNSAe SASS ol &=+ 5,000 = 4CMS
173 2015-02-25 KNS 23=3 2 5,000 4CMS
174 2015-02-25 KNSAe SASS 2+ 5,000 = 4CMS
175 2015-02-25 KNS 2d=3 Z0lx 3,000|=4CMS
176 2015-02-25 KNSAe SASS Y= 5,000 = 4CMS
177 2015-02-25 KNS 2SS R 10,000|2&CMS
178 2015-02-25 KNSAe SASS 2|+ 5,000 = 4CMS
179 2015-02-25 KNS 2@=3 Z 5,000 = 4CMS
180 2015-02-25 KNSAe SJASS Z0l* 10,000(= & CMS
181 2015-02-25 KNS 23=3 &b 5,000 = 4CMS
182 2015-02-25 KNSAe SJSS e 10,000(=&CMS
183 2015-02-25 KNS 2@=3 & 5,000 = 4CMS
184 2015-02-25 KNSAe SASS 2 0l 5,000|&8CMS
185 2015-02-25 KNS 23=3 R 5,000 = 4CMS
186 2015-02-25 KNSAe S/SS 2 5,000|&84CMS
187 2015-02-25 KNS 2@=3 ZE* 3,000|=4CMS
188 2015-02-25 KNSAe SASS & H~ 5,000|&8CMS
189 2015-02-25 KNSAe SdSS Fax 10,000|2 & CMS
190 2015-02-25 KNAe =33 & 5,000|&8CMS
191 2015-02-25 KNSAe SdSS B &b 5,000 = 4CMS
192 2015-02-25 KNAe =33 SRk 3,000|&4CMS
193 2015-02-25 KNSAe SdSS Ol &t 10,000|2 & CMS
194 2015-02-25 KNAe =33 EFx 5,000|&8CMS
195 2015-02-25 KNSAe SdSS la=4 10,000|2 & CMS
196 2015-02-25 KNSAte 2833 OFE * 5,000

197 2015-02-25 KNSAe SJSS elesky 5,000

198 2015-02-25 NAAE 22 S3 o * 5,000 4CMS
199 2015-02-25 KNSAe SJSS 01 & * 10,000|2 &4 CMS
200 2015-02-25 KNSAte 2833 o1&~ 5,000 4CMS
201 2015-02-25 KNSAe SJSS Ol =+ 5,000 = 4CMS
202 2015-02-25 KNSAte 2833 01 8k 10,000|2&CMS
203 2015-02-25 KNSAe SJSS 0l E 10,000|2 &4 CMS
204 2015-02-25 NAAE 22 S3 01+ 5,000 4CMS
205 2015-02-25 KNS Ae SJASS Ol &t 10,000

206 2015-02-25 KNSAte 2333 Ol &d = 10,000|2 & CMS
207 2015-02-25 KNS Ae SJASS Ol &« 5,000 = 4CMS
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2015-02-25 SEASE 10,000|2 &4 CMS
2015-02-25 SES3 5,000 4CMS
2015-02-25 SESE 5,000 = 4CMS
2015-02-25 SES3 5,000 4CMS
2015-02-25 SESE 5,000 = 4CMS
2015-02-25 SESS 5,000 4CMS
2015-02-25 223 3,000 =4 CMS
2015-02-25 223 5,000 4CMS
2015-02-25 223 10,000| 2 &4 CMS
2015-02-25 223 5,000 4CMS
2015-02-25 223 5,000 = 4CMS
2015-02-25 223 5,000 = 4CMS
2015-02-26 223 2 10,000

2015-02-26 223 El 20,000

2015-02-27 rek== 2 5,000|&84CMS
2015-02-27 223 2 5,000 = 4CMS
2015-02-27 rek== S+ 20,000| =4 CMS
2015-02-27 223 S * 10,000|2 & CMS
2015-02-27 rek== o 10,000(=&CMS
2015-02-27 223 &I+ 5,000 = 4CMS
2015-02-27 rek== e 5,000|&84CMS
2015-02-27 223 Z 5,000 = 4CMS
2015-02-27 =3 Z0|* 10,000(= & CMS
2015-02-27 223 LS+ 20,000| &4 CMS
2015-02-27 =3 2 abx 3,000|&4CMS
2015-02-27 223 ERaL 5,000 = 4CMS
2015-02-27 =3 e 20,000| =24 CMS
2015-02-27 223 EE 5,000 = 4CMS
2015-02-27 =3 B2 10,000(= & CMS
2015-02-27 223 & 10,000|2 & CMS
2015-02-27 =3 H 2+ 5,000 4CMS
2015-02-27 223 e 5,000 = 4CMS
2015-02-27 =3 RSk 5,000 4CMS
2015-02-27 223 RS 5,000 = 4CMS
2015-02-27 =3 & &l 5,000 4CMS
2015-02-27 223 25+ 10,000|2 &4 CMS
2015-02-27 =3 &= 20,000| &4 CMS
2015-02-27 223 CH 2 «(=F) 30,000| &4 CMS
2015-02-27 =3 OFoh = 5,000 4CMS
2015-02-27 223 OF 2t 5,000 = 4CMS
2015-02-27 223 8= 10,000|2 & CMS
2015-02-27 223 Bhsx 10,000|2 &4 CMS
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2015-02-27 SEASE Sl 3,000
2015-02-27 SES3 EONL 3,000
2015-02-27 SESE BH=« 5,000
2015-02-27 SES3 HH 2= 5,000
2015-02-27 SESE NE* 10,000
2015-02-27 SHSE e 3,000
2015-02-27 223 NIZ |+ 50,000
2015-02-27 223 0l &= 20,000
2015-02-27 223 Ol 5+ 5,000|=
2015-02-27 223 Ol =* 5,000|%
2015-02-27 223 0121« 10,000|=
2015-02-27 223 0l =+ 3,000
2015-02-27 223 Ol &f* 10,000
2015-02-27 223 Ol Al* 3,000
2015-02-27 rek== Ol 0il 10,000|5
2015-02-27 223 Ol =+ 3,000]|%
2015-02-27 rek== Ol &« 10,000|=
2015-02-27 223 Ol ol * 5,000
2015-02-27 rek== &0+ 5,000
2015-02-27 223 HEx 5,000
2015-02-27 rek== & 5,000|=
2015-02-27 223 oll* 10,000|%
2015-02-27 =3 TS * 3,000|=
2015-02-27 223 ESEE R 20,000
2015-02-27 =3 ESfeley 5,000(=
2015-02-27 223 St 3,000]|%
2015-02-27 =3 Shafx 5,000|=
2015-02-27 223 o & |+ 20,000
2015-02-27 =3 Sl 7 5,000
2015-02-27 223 =% 3,000
2015-02-27 =3 S 10,000|=
2015-03-02 223 ZAl* 5,000|=
2015-03-02 =3 HH & = 5,000|=
2015-03-02 223 Ol &t 10,000|=
2015-03-02 =3 ES= 10,000
2015-03-09 223 2 & 10,000|=
2015-03-09 =3 306l 10,000
2015-03-09 223 2 A« 5,000|=
2015-03-09 =3 Fabety 5,000|=
2015-03-09 223 R 5,000
2015-03-09 =3 & ahx 5,000
2015-03-09 223 Rk 5,000
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2015-03-23 SEASE 0l F 5,000
2015-03-23 SES3 Ol & * 10,000
2015-03-23 SESE Ol &« 5,000
2015-03-23 SES3 Ols~ 10,000
2015-03-23 SESE 0l=* 5,000
2015-03-23 SESS Ol XH * 5,000
2015-03-23 SESE Ol XH* 5,000
2015-03-23 SESS 018 * 5,000
2015-03-23 SESE &0+ 5,000|=
2015-03-23 SESS g~ 3,000|%
2015-03-23 SESE I 5,000|=
2015-03-23 SESS X+ 10,000(&
2015-03-23 SESE & 5,000|=
2015-03-23 SESS ESRa 5,000|%
2015-03-23 SE=SS =S 5,000
2015-03-25 SESS Ol &t 10,000
2015-03-26 SE=SS e 10,000
2015-03-27 SESS 2 5,000
2015-03-27 SE=SS 2 E 5,000
2015-03-27 SESS S * 20,000
2015-03-27 SE=SS S+ 10,000|=
2015-03-27 SESS oL 10,000|%
2015-03-27 SE=SS ZI|* 5,000|=
2015-03-27 SES3 HE 5,000
2015-03-27 SESE 2B 5,000(=
2015-03-27 SES3 LS+ 20,000(&
2015-03-27 SE=SS 2 A 3,000|=
2015-03-27 SES3 ERaL 5,000
2015-03-27 SESE e 20,000
2015-03-27 SES3 el 5,000
2015-03-27 SHESE B2 10,000|=
2015-03-27 SESE & 10,000|=
2015-03-27 SHESE H 2+ 5,000|=
2015-03-27 SESE RSk 5,000|=
2015-03-27 SHESE S~ 5,000|=
2015-03-27 SESE RS 5,000|=
2015-03-27 SHASE & &l 5,000|=
2015-03-27 SESE 25+ 10,000
2015-03-27 SEASE &= 20,000(=
2015-03-27 SESE CH 2« (=F) 30,000
2015-03-27 SES3 OFoh = 5,000
2015-03-27 A2 SJSE OF 2t 5,000




I 2355 =% So
2015-03-27 23z =2 10,000
2015-03-27 e ot 10,000
2015-03-27 a3z 5t o1 3,000
2015-03-27 w3z ot 7« 3,000
2015-03-27 sz ot = 5,000
2015-03-27 e B 24 5,000
2015-03-27 a3z T 10,0005
2015-03-27 e K 3,000
2015-03-27 a3z 'EST 50,000] 5
2015-03-27 e 0124+ 5,000| 5
2015-03-27 a3z 02 20,000]3
2015-03-27 e 0l 77+ 5,000
2015-03-27 a3z 0=+ 5,000
2015-03-27 e 0/elx 10,000
2015-03-27 e 0= 3,000]
2015-03-27 e 0/ Al 3,000|5
2015-03-27 e 0/l 10,000/ 2
2015-03-27 e 012+ 10,000
2015-03-27 e 0/ 5,000
2015-03-27 e 50l 5,000
2015-03-27 e o 5,000(2
2015-03-27 =238 e 5,000| 5
2015-03-27 e % 5 10,000/
2015-03-27 3% =+ 3,000
2015-03-27 e 52 20,0005
2015-03-27 s23E T 5,000| 5
2015-03-27 e 5101 3,000]
2015-03-27 3% B 5,000
2015-03-27 e SESL 20,000
2015-03-27 s23E 517 5,000
2015-03-27 e = 3,000]
2015-03-27 s23E s 10,000] 5
2015-03-31 e T 20,000
2015-04-02 s23E 2Nl 5,000
2015-04-02 e e 5,000
2015-04-02 s23E 0l &+ 10,000
2015-04-02 e 0/24x 5,000
2015-04-02 s23E e 10,000/ 2
2015-04-04 sa3E Sti=nsss 100,000
2015-04-08 s23E 25 10,000
2015-04-08 e 2ol 30,000
2015-04-08 23z T 5,000




Ef~ =P\,

S
{0
oy

OF
v
oy
12

2015-04-08

o

o
oy
0

5,000

2015-04-08

o

5,000

2015-04-08

o

o
ou [ ob
0

o
0

5,000

2015-04-08

o

40

3,000

2015-04-08

o

oy | o

o
G | Ofn

10,000

2015-04-08

o

40

10,000

2015-04-08

oy | o

o
GiH | Ofn

3,000

2015-04-08

40

20,000

2015-04-08

oy | o

o
GiH | Ofn

5,000|=

2015-04-08

40

5,000|%

2015-04-08

oy | o

o
OiH | Ofn

5,000|=

2015-04-08

40

5,000

2015-04-08

oy | o

o
GiH | Ofn

5,000

2015-04-08

10

10,000

2015-04-08

oy | oy

0
G | Ofn

5,000|=

2015-04-08

10

>

5,000|%

2015-04-08

oy | oy

0
G | Ofn

fel]
A
*

5,000|=

2015-04-13

10

04
0N
X

5,000

2015-04-22

oy | oy

0
G | Ofn

o
*

5,000

2015-04-22

10

o
*

5,000

2015-04-22

oy | oy

0
G | Ofn

e o | ok

o
*

3,000|=

2015-04-22

10

S

0°
>*

5,000]|%

2015-04-22

oJ oy

0
GiH | Ofn

M
U

0
*

5,000|=

2015-04-22

o
>*

5,000

2015-04-22

o
oy
ol | Off

o
oy

=N

\J
*

0

10,000|1=

2015-04-22

N
0z
>*

0

5,000|%

2015-04-22

o
oy
ol | Off

o
oy

o
*

10,000|=

2015-04-22

oy
>*

5,000

2015-04-22

o
oy
ol | Off

o
oy

\]

2|4 |ox

0
*

5,000

2015-04-22

IS
>*

5,000

2015-04-22

o
oy
ol | Off

o
oy

\]

Mo | 40

0
*

5,000|=

2015-04-22

o
a2
*

3,000|=

2015-04-22

o
oy
ol | Off

o
oy

o
FF
*

5,000|=

2015-04-22

N
g

0

100,000| &

2015-04-22

o
oy
ol | Off

o
oy

I
0
*

10,000

2015-04-22

*

Bl

5,000|=

2015-04-22

o
oy
ol | Off

o
oy

1T
0z | ot
*

5,000|=

2015-04-22

=)

*

10,000

2015-04-22

o
oy
ol | Off

o
oy

tr

*

5,000|=

2015-04-22

o
oy
i

-

Ol |08 |0z
*

o

10,000

2015-04-22

5,000

2015-04-22

10
oy | oy
0

o
i

10,000




RS RPN} SESE= = =N

2015-04-22 SEASE 01 & * 5,000 = 4CMS
2015-04-22 SES3 OR=S 5,000 4CMS
2015-04-22 SESE 012t 10,000|2 &4 CMS
2015-04-22 SES3 01 10,000|2&CMS
2015-04-22 SESE 0l F 5,000 = 4CMS
2015-04-22 SESS Ol&d = 10,000|2&CMS
2015-04-22 SESE Ol = 5,000 = 4CMS
2015-04-22 SESS Olsx* 10,000|2&CMS
2015-04-22 SESE 0l=x* 5,000 = 4CMS
2015-04-22 SESS Ol XH * 5,000 4CMS
2015-04-22 SESE Ol XH* 5,000 = 4CMS
2015-04-22 SESS 018 5,000 = 4CMS
2015-04-22 SESE g~ 3,000 =4 CMS
2015-04-22 SESS g 5,000 = 4CMS
2015-04-22 SE=SS & X+ 10,000(= & CMS
2015-04-22 SESS &P 5,000 = 4CMS
2015-04-22 SE=SS ZI &= 5,000|&8CMS
2015-04-22 SESS 2Hofx 5,000 = 4CMS
2015-04-27 SE=SS &2 10,000

2015-04-27 SHASE LR 10,000

2015-04-27 SE=SS OIOtEZ &= 1,270

2015-04-27 SESS Ol &t 10,000

2015-04-29 SE=SS 2 5,000|&8CMS
2015-04-29 SES3 2 & 5,000 = 4CMS
2015-04-29 SESE S M= 20,000/ =4 CMS
2015-04-29 SES3 S * 10,000|2 & CMS
2015-04-29 SE=SS o 10,000(= & CMS
2015-04-29 SES3 2|+ 5,000 = 4CMS
2015-04-29 SESE e 5,000|&8CMS
2015-04-29 SES3 Z 5,000 = 4CMS
2015-04-29 SHESE Z0]* 10,000|2&CMS
2015-04-29 SESE LS+ 20,000| &4 CMS
2015-04-29 SHESE R 3,000|=4CMS
2015-04-29 SESE ERaL 5,000 = 4CMS
2015-04-29 SHESE Rk 20,000| &4 CMS
2015-04-29 SESE Eha 5,000 = 4CMS
2015-04-29 SHASE Z 2 10,000|2&CMS
2015-04-29 SESE R 10,000|2 &4 CMS
2015-04-29 SEASE H 2+ 5,000 4CMS
2015-04-29 SESE & 5,000 = 4CMS
2015-04-29 SES3 RSk 5,000 4CMS
2015-04-29 A2 SJSE RS 5,000 = 4CMS
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RS RPN} SESE= S3X =N

2015-05-06 SEASE St 100,000

2015-05-08 SES3 2 10,000|2&CMS
2015-05-08 SESE S0l 30,000| &4 CMS
2015-05-08 SES3 2= 5,000 4CMS
2015-05-08 SESE T = 5,000 = 4CMS
2015-05-08 SESS R 5,000 4CMS
2015-05-08 223 & abx 5,000 = 4CMS
2015-05-08 223 Rk 5,000 4CMS
2015-05-08 223 He2* 3,000 =4 CMS
2015-05-08 223 LS+ 10,000|2&CMS
2015-05-08 223 HH & 3,000 =4 CMS
2015-05-08 223 B b 20,000| &4 CMS
2015-05-08 223 2 0[* 5,000 = 4CMS
2015-05-08 223 Ol 2 20,000| &4 CMS
2015-05-08 rek== Ol e« 5,000|&84CMS
2015-05-08 223 Ol Al = 5,000 = 4CMS
2015-05-08 rek== Ol =~ 5,000|&8CMS
2015-05-08 223 Ol XH* 5,000 = 4CMS
2015-05-08 rek== Ol'all* 10,000(=&CMS
2015-05-08 223 =&l 5,000 = 4CMS
2015-05-08 rek== TH =S * 5,000|&84CMS
2015-05-08 223 ol &=+ 5,000 = 4CMS
2015-05-11 =3 Ol &« 200,000

2015-05-22 223 2 5,000 = 4CMS
2015-05-22 =3 LS 5,000|&8CMS
2015-05-22 223 Z0lx 3,000|=4CMS
2015-05-22 =3 Y 5,000|&8CMS
2015-05-22 223 R 10,000|2 & CMS
2015-05-22 =3 ZI|* 5,000|&8CMS
2015-05-22 223 Z 5,000 = 4CMS
2015-05-22 =3 Z0]* 10,000|2&CMS
2015-05-22 223 ot 5,000 = 4CMS
2015-05-22 =3 Rk 10,000|2&CMS
2015-05-22 223 &= 5,000 = 4CMS
2015-05-22 =3 2 0l 5,000 4CMS
2015-05-22 223 R 5,000 = 4CMS
2015-05-22 =3 H 2+ 5,000 4CMS
2015-05-22 223 HEx 3,000|=4CMS
2015-05-22 =3 ZH~ 5,000 4CMS
2015-05-22 223 LS~ 100,000 &4 CMS
2015-05-22 223 F8x 10,000|2 & CMS
2015-05-22 223 =& 5,000 = 4CMS




RS RPN} SESE= =N

2015-05-22 SEASE 5,000 = 4CMS
2015-05-22 SES3 5,000 4CMS
2015-05-22 SESE 10,000|2 &4 CMS
2015-05-22 SES3 5,000 4CMS
2015-05-22 SESE 10,000| £ & CMS
2015-05-22 SESS 5,000 4CMS
2015-05-22 223 10,000| £ & CMS
2015-05-22 223 5,000 4CMS
2015-05-22 223 5,000 = 4CMS
2015-05-22 223 10,000|2&CMS
2015-05-22 223 10,000| 2 &4 CMS
2015-05-22 223 5,000 = 4CMS
2015-05-22 223 10,000| 2 &4 CMS
2015-05-22 223 5,000 = 4CMS
2015-05-22 rek== 10,000(= & CMS
2015-05-22 223 5,000 = 4CMS
2015-05-22 rek== 5,000|&8CMS
2015-05-22 223 5,000 = 4CMS
2015-05-22 rek== 5,000|&8CMS
2015-05-22 223 3,000|=4CMS
2015-05-22 rek== 5,000|&84CMS
2015-05-22 223 10,000|2 & CMS
2015-05-22 =3 5,000|&8CMS
2015-05-22 223 5,000 = 4CMS
2015-05-26 =3 10,000

2015-05-26 223 EE 10,000

2015-05-26 =3 S+ 20,000

2015-05-26 223 Ol &t 10,000

2015-05-28 =3 2 5,000|&8CMS
2015-05-28 223 2 5,000 = 4CMS
2015-05-28 =3 S+ 20,000| &4 CMS
2015-05-28 223 S * 10,000|2 &4 CMS
2015-05-28 =3 =iy 10,000|2&CMS
2015-05-28 223 2|+ 5,000 = 4CMS
2015-05-28 =3 ZE 5,000 4CMS
2015-05-28 223 o 5,000 = 4CMS
2015-05-28 =3 ZS* 20,000| &4 CMS
2015-05-28 223 ot 3,000|=4CMS
2015-05-28 =3 & & 5,000 4CMS
2015-05-28 223 e 20,000| &4 CMS
2015-05-28 223 R 5,000 4CMS
2015-05-28 223 L2+ 10,000|2 &4 CMS
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=B RS RPN} SESE= S3X =N

670 2015-06-01 KNSAe SJASS ZAl* 5,000 = 4CMS
671 2015-06-01 KNSAte 2233 T E* 5,000 4CMS
672 2015-06-01 KNS SJASS HH & 5,000 = 4CMS
673 2015-06-01 KANSAe 2233 Ol &b 10,000|2&CMS
674 2015-06-01 KNSAe SASS 01 Z 5,000 = 4CMS
675 2015-06-01 KNSAte 2d=3 ESE=E 10,000|2&CMS
676 2015-06-08 KNSAe SASS 2 & 10,000| £ & CMS
677 2015-06-08 KNS 23=3 3oll* 30,000| &4 CMS
678 2015-06-08 KNSAe SASS 2 A« 5,000 = 4CMS
679 2015-06-08 KNS 2d=3 T =% 5,000 4CMS
680 2015-06-08 KNSAe SASS L& 5,000 = 4CMS
681 2015-06-08 KNS 2SS &b 5,000 = 4CMS
682 2015-06-08 KNSAe SASS He2* 3,000 =4 CMS
683 2015-06-08 KNS 2@=3 LS 10,000|2 & CMS
684 2015-06-08 KNSAe SJASS B 10,000(= & CMS
685 2015-06-08 KNS 23=3 BH &« 3,000|=4CMS
686 2015-06-08 KNSAe SJSS B &l 20,000| =4 CMS
687 2015-06-08 KNS 2@=3 A0+ 5,000 = 4CMS
688 2015-06-08 KNSAe SASS Ol e« 5,000|&8CMS
689 2015-06-08 KNS 23=3 Ol Al = 5,000 = 4CMS
690 2015-06-08 KNSAe S/SS Ol =~ 5,000|&84CMS
691 2015-06-08 KNS 2@=3 Ol XH* 5,000 = 4CMS
692 2015-06-08 KNSAe SASS Ol'adl* 10,000(= & CMS
693 2015-06-08 KNSAe SdSS =&l 5,000 = 4CMS
694 2015-06-08 KNSAe SRASS TH S * 5,000|&8CMS
695 2015-06-09 NSAe 283 ?CI%EE%E 100,000

696 2015-06-12 KNSAte SdSS ?EQEEF&% 500,000

697 2015-06-12 KNSAe SdSS g 5,000 = 4CMS
698 2015-06-24 KNSAe SASS 2 5,000|&8CMS
699 2015-06-24 KNSAte SdSS Z0lx 3,000|=4CMS
700 2015-06-24 NAAE 22 S3 Rk 10,000|2&CMS
701 2015-06-24 KNSAe SJSS 2|+ 5,000 = 4CMS
702 2015-06-24 NAAE 22 S3 ZE* 5,000 4CMS
703 2015-06-24 KNSAe SJSS 20+ 10,000|2 &4 CMS
704 2015-06-24 NAAE 22 S3 R 5,000 4CMS
705 2015-06-24 KNSAe SJSS R 10,000|2 &4 CMS
706 2015-06-24 NAAE 22 S3 R 5,000 4CMS
707 2015-06-24 KNSAe =SS 2 0l 5,000 = 4CMS
708 2015-06-24 NAAE 22 S3 R 5,000 4CMS
709 2015-06-24 KNS Ae SJASS HE 3,000|=4CMS
710 2015-06-24 KNSAte 2333 2 H~ 5,000 4CMS
711 2015-06-24 KNS Ae SJASS LS~ 100,000 &4 CMS




RS RPN} SESE= S3X =N

2015-06-24 SEASE Fax 10,000|2 &4 CMS
2015-06-24 SES3 &= 5,000 4CMS
2015-06-24 SESE g &k« 5,000 = 4CMS
2015-06-24 SES3 Ol &b 10,000|2&CMS
2015-06-24 SESE EHx 5,000 = 4CMS
2015-06-24 SESS tla=g 10,000|2&CMS
2015-06-24 223 o 5,000 = 4CMS
2015-06-24 223 01 & * 10,000|2&CMS
2015-06-24 223 01 & * 5,000 = 4CMS
2015-06-24 223 Ol =* 5,000 4CMS
2015-06-24 223 012t 10,000| 2 &4 CMS
2015-06-24 223 01 E * 10,000|2&CMS
2015-06-24 223 0l F 5,000 = 4CMS
2015-06-24 223 Ol &= 10,000|2 & CMS
2015-06-24 rek== Ol ¢« 5,000|&84CMS
2015-06-24 223 Ol=x* 10,000|2 & CMS
2015-06-24 rek== 0l =~ 5,000|&8CMS
2015-06-24 223 Ol XH* 5,000 = 4CMS
2015-06-24 rek== Ol XH* 5,000|&8CMS
2015-06-24 223 sk 5,000 = 4CMS
2015-06-24 rek== Ol =~ 5,000|&84CMS
2015-06-24 223 dHx 3,000|=4CMS
2015-06-24 =3 3 5,000|&8CMS
2015-06-24 223 DN 10,000|2 & CMS
2015-06-24 =3 A 5,000|&8CMS
2015-06-24 223 ZI&* 5,000 = 4CMS
2015-06-24 =3 2Ol 5,000|&8CMS
2015-06-25 rek=t Z2* 10,000

2015-06-25 =3 Z0|* 20,000

2015-06-25 223 Ol &t 10,000

2015-06-26 =3 Z R 10,000

2015-06-29 223 2 5,000 = 4CMS
2015-06-29 =3 2 & 5,000 4CMS
2015-06-29 223 S * 20,000| &4 CMS
2015-06-29 =3 S+ 10,000|2&CMS
2015-06-29 223 B 10,000|2 &4 CMS
2015-06-29 =3 ZI|* 5,000 4CMS
2015-06-29 223 HE 5,000 = 4CMS
2015-06-29 =3 ZE* 5,000 4CMS
2015-06-29 223 LS+ 20,000| &4 CMS
2015-06-29 223 ERak 5,000 4CMS
2015-06-29 223 e 20,000| &4 CMS




RS RPN} SESE= S3X =N
2015-06-29 KNSAe SJASS o 5,000 = 4CMS
2015-06-29 KNSAte 2233 R 10,000|2&CMS
2015-06-29 KNS SJASS e 5,000 = 4CMS
2015-06-29 KANSAe 2233 RSk 5,000 4CMS
2015-06-29 KNSAe SASS & 5,000 = 4CMS
2015-06-29 KNSAte 2d=3 & 5,000 4CMS
2015-06-29 KNSAe SASS 28 5,000 = 4CMS
2015-06-29 KNS 23=3 2 5|* 10,000|2&CMS
2015-06-29 KNSAe SASS &7 20,000| &4 CMS
2015-06-29 KNS 2d=3 O 2 +(3F) 30,000| &4 CMS
2015-06-29 KNSAe SASS Otoh = 5,000 = 4CMS
2015-06-29 KNS 2SS OF&t» 5,000 = 4CMS
2015-06-29 KNSAe SASS = 10,000| 2 &4 CMS
2015-06-29 KNS 2@=3 BrS* 10,000|2 & CMS
2015-06-29 KNSAe SJASS S« 3,000|&&4CMS
2015-06-29 KNS 23=3 EIONL 3,000|=4CMS
2015-06-29 KNSAe SJSS BH=« 5,000|&8CMS
2015-06-29 KNS 2@=3 BH 2= 5,000 = 4CMS
2015-06-29 KNSAe SASS NS 3,000|&4CMS
2015-06-29 KNS 23=3 A& J|* 50,000| & 4CMS
2015-06-29 KNSAe S/SS Ol &« 20,000| =4 CMS
2015-06-29 KNS 2@=3 Ol 7+ 5,000 = 4CMS
2015-06-29 KNSAe SASS RS 5,000|&8CMS
2015-06-29 KNSAe SdSS 0121+ 10,000|2 & CMS
2015-06-29 KNSAe SRASS 0l =~ 3,000|&4CMS
2015-06-29 KNSAe SdSS Ol Al* 3,000|=4CMS
2015-06-29 KNSAe SASS 01 0l 10,000(= & CMS
2015-06-29 KNSAe SdSS Ol =+ 3,000|=4CMS
2015-06-29 KNSAe SASS Ol &« 10,000(= & CMS
2015-06-29 KNSAe SdSS Ol off * 5,000 = 4CMS
2015-06-29 KNSAte 2833 HEx 5,000 4CMS
2015-06-29 KNSAe SJSS e 5,000 = 4CMS
2015-06-29 NAAE 22 S3 oll* 10,000|2&CMS
2015-06-29 KNSAe SJSS TH = * 3,000|=4CMS
2015-06-29 KNSAte 2833 ZI 8= 20,000| &4 CMS
2015-06-29 KNSAe SJSS ZI Bk 5,000 = 4CMS
2015-06-29 KNSAte 2833 St 3,000|=4CMS
2015-06-29 KNSAe SJSS shatx 5,000 = 4CMS
2015-06-29 NAAE 22 S3 o &I 20,000| &4 CMS
2015-06-29 KNS Ae SJASS ol 7 5,000 = 4CMS
2015-06-29 KNSAte 2333 S=* 3,000|=4CMS
2015-06-29 KNS Ae SJASS S&* 10,000|2 &4 CMS




RS RPN} SESE= S3X =N
2015-06-29 KNSAe SJASS ok 5,000
2015-06-30 KNSAte 2233 BE* 20,000
2015-07-02 KNS SJASS ZAl* 5,000
2015-07-02 KANSAe 2233 T E* 5,000
2015-07-02 KNSAe SASS HH & 5,000
2015-07-02 KNSAte 2d=3 Ol &t 10,000
2015-07-02 KNSAe SASS 0l Z* 5,000
2015-07-02 KNS 23=3 ESE=E 10,000
2015-07-08 KNSAe SASS 2 & 10,000|=
2015-07-08 KNS 2d=3 3oll* 30,000(&
2015-07-08 KNSAe SASS 2 A« 5,000|=
2015-07-08 KNS 2SS R 5,000
2015-07-08 KNSAe SASS R 5,000
2015-07-08 KNS 2@=3 Rl 5,000
2015-07-08 KNSAe SJASS 2 3,000|=
2015-07-08 KNS 23=3 LS 10,000|%
2015-07-08 KNSAe SJSS B 10,000|=
2015-07-08 KNS 2@=3 B afx 20,000
2015-07-08 KNSAe SASS 2 0[* 5,000
2015-07-08 KNS 23=3 Ol 2 20,000
2015-07-08 KNSAe S/SS Ol e« 5,000|=
2015-07-08 KNS 2@=3 Ol Al = 5,000]|%
2015-07-08 KNSAe SASS Ol =~ 5,000|=
2015-07-08 KNSAe SdSS Ol XH* 5,000|%
2015-07-08 KNSAe SRASS Ol'adl* 10,000|=
2015-07-08 KNSAe SdSS =&l 5,000|%
2015-07-08 KNSAe SASS TH S * 5,000
2015-07-11 KNSAe SdSS 20+ 300,000
2015-07-13 KNAe =33 2 5,000
2015-07-22 KNSAe SdSS 2 5,000
2015-07-22 KNSAte 2833 el 3,000|=
2015-07-22 KNSAe SJSS HE* 10,000|=
2015-07-22 NAAE 22 S3 ZI|* 5,000|=
2015-07-22 KNSAe SJSS Rk 5,000|=
2015-07-22 KNSAte 2833 Z0]* 10,000
2015-07-22 KNSAe SJSS R 5,000|=
2015-07-22 KNSAte 2833 Z e 10,000
2015-07-22 KNSAe SJSS Rl 20,000
2015-07-22 NAAE 22 S3 &= 5,000|=
2015-07-22 KNS Ae SJASS 2 Ol » 5,000
2015-07-22 KNSAte 2333 R 5,000
2015-07-22 KNS Ae SJASS R 5,000
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2015-07-29 KNSAe SJASS e 5,000 = 4CMS
2015-07-29 KNSAte 2233 ZE* 5,000 4CMS
2015-07-29 KNS SJASS LS+ 20,000| &4 CMS
2015-07-29 KANSAe 2233 ot 3,000|=4CMS
2015-07-29 KNSAe SASS Rk 5,000 = 4CMS
2015-07-29 KNSAte 2d=3 Rl 20,000| &4 CMS
2015-07-29 KNSAe SASS o 5,000 = 4CMS
2015-07-29 KNS 23=3 B2 10,000|2&CMS
2015-07-29 KNSAe SASS & 7* 10,000| 2 &4 CMS
2015-07-29 KNS 2d=3 H2* 5,000 4CMS
2015-07-29 KNSAe SASS & 5,000 = 4CMS
2015-07-29 KNS 2SS RSk 5,000 = 4CMS
2015-07-29 KNSAe SASS 28 5,000 = 4CMS
2015-07-29 KNS 2@=3 RS 5,000 = 4CMS
2015-07-29 KNSAe SJASS 25+ 10,000(= & CMS
2015-07-29 KNS 23=3 g7 20,000| &4 CMS
2015-07-29 KNSAe SJSS CH 224 % (=) 30,000| =& CMS
2015-07-29 KNS 2@=3 Otoh = 5,000 = 4CMS
2015-07-29 KNSAe SASS Oh&k* 5,000|&8CMS
2015-07-29 KNS 23=3 =8* 10,000|2 & CMS
2015-07-29 KNSAe S/SS S« 10,000(=&CMS
2015-07-29 KNS 2@=3 B 3,000|=4CMS
2015-07-29 KNSAe SASS EIONES 3,000|&4CMS
2015-07-29 KNSAe SdSS Br=« 5,000 = 4CMS
2015-07-29 KNSAe SRASS HH 25 5,000|&8CMS
2015-07-29 KNSAe SdSS MNE* 10,000|2 & CMS
2015-07-29 KNAe =33 KNS 3,000|&4CMS
2015-07-29 KNSAe SdSS A& % 50,000| &4 CMS
2015-07-29 KNSAe SASS Ol &« 20,000/ =4 CMS
2015-07-29 KNSAe SdSS Ol 7+ 5,000 = 4CMS
2015-07-29 KNSAte 2833 OR=S 5,000 4CMS
2015-07-29 KNSAe SJSS 0121« 10,000|2 &4 CMS
2015-07-29 NAAE 22 S3 0l =~ 3,000|=4CMS
2015-07-29 KNSAe SJSS Ol =+ 5,000 = 4CMS
2015-07-29 KNSAte 2833 Ol Al 3,000|=4CMS
2015-07-29 KNSAe SJSS 0101l 10,000|2 &4 CMS
2015-07-29 KNSAte 2833 Ol &=~ 3,000|=4CMS
2015-07-29 KNSAe SJSS (O FSE 10,000|2 &4 CMS
2015-07-29 NAAE 22 S3 Ol off 5,000 4CMS
2015-07-29 KNS Ae SJASS &~ 5,000 = 4CMS
2015-07-29 KNSAte 2333 et 5,000 4CMS
2015-07-29 KNS Ae SJASS Loll* 10,000|2 &4 CMS
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2015-07-29  |NoiASl SRIE =+ 3,000
2015-07-29  |NoiAS SR3E e 20,000
2015-07-29  |NoiASl SRIE T 5,000
2015-07-29  |NoiASl SRIE 8104 3,000
2015-07-29  |NoiASl SRIE B 5,000
2015-07-29  |XI°iAEl SR E 21+ 20,000
2015-07-29  |N°iASl SRIE 5171+ 5,000]3
2015-07-29  |NoAE sR2E S 3,000
2015-07-29  |N°iASl SRIE s 10,000] 5
2015-07-29  |XI°iASl SR E 21 5,000
2015-07-31  |NoiASl SR3E °ET 20,000
2015-08-03  |NoAISl =822 24 Al 5,000(3
2015-08-03  |XI°iASl SRIE B 24 5,000]3
2015-08-03  |XI°iAISl SRS E 0/ 4+ 10,000
2015-08-03  |XI°iAtSl SRAE 0/24+ 5,000(2
2015-08-06  |XI°iAISl SRS E e 10,000/ 2
2015-08-07  |XI°iAtSl SRAE 2 10,000[ 5
2015-08-07  |XI°iAISl SR E 2+ 30,000
2015-08-07  |XI°iAtSl SRAE 22 5,000
2015-08-07  |XI°iAISl SR E 2 5,000
2015-08-07  |XI°iAtSl SRAE 2o 3,000]5
2015-08-07  |XI°iAISl 2R E e 10,000/ 2
2015-08-07  |NoiAISl 2822 ot = 10,000[5
2015-08-07  |NoiAE SRIE o 2 20,000
2015-08-07  |XI°iAtSl SRIE 2l0]x 5,000[3
2015-08-07  |N°iASl SRIE 02 20,000| 3
2015-08-07  |XI°iAtSl SRIE 0/ &+ 5,000(3
2015-08-07  |NoiAE SRIE 0/ i 5,000
2015-08-07  |XI°iAtSl SRIE 0]z 5,000
2015-08-07  |N°iASl SRIE 0/ T+ 5,000
2015-08-07  |N°iAISl SR3E 0/l 10,000
2015-08-07  |N°iASl SRAE T 5,000]3
2015-08-07  |NoiAISl SR3E = 5,000|5
2015-08-12  |NI°iASl ZRAE 52 5,000
2015-08-18  |H%AISl 22BE S 200,000
2015-08-24  |NoiAEl SRAE 2 5,000
2015-08-24  |NoiASl SRIE 2f0lx 3,000
2015-08-24  |NoiAEl SRAE 22 10,000
2015-08-24  |NoIASl SR3E 201 5,000
2015-08-24  |XI°iASl SRAE 2/ 94x 5,000]3
2015-08-24  |NoIASl =R3E 210l 30,000
2015-08-24  |XIoiASl SRAE 2101+ 10,000
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2015-08-24 KNSAe SJASS & atx 5,000 = 4CMS
2015-08-24 KNSAte 2233 Zax 10,000|2&CMS
2015-08-24 KNS SJASS e 20,000| &4 CMS
2015-08-24 KANSAe 2233 R 5,000 4CMS
2015-08-24 KNSAe SASS 2 0l 5,000 = 4CMS
2015-08-24 KNSAte 2d=3 R 5,000 4CMS
2015-08-24 KNSAe SASS ZE 3,000 =4 CMS
2015-08-24 KNS 23=3 ZH~ 5,000 4CMS
2015-08-24 KNSAe SASS S 100,000 & & CMS
2015-08-24 KNS 2d=3 &= 5,000 4CMS
2015-08-24 KNSAe SASS gh2hx 5,000 = 4CMS
2015-08-24 KNS 2SS Bhadx 5,000 = 4CMS
2015-08-24 KNSAe SASS Ol &f* 10,000| 2 &4 CMS
2015-08-24 KNS 2@=3 Edx 5,000 = 4CMS
2015-08-24 KNSAe SJASS la=i 10,000(= & CMS
2015-08-24 KNS 23=3 o 5,000 = 4CMS
2015-08-24 KNSAe SJSS 01 &« 10,000(=&CMS
2015-08-24 KNS 2@=3 01 & * 5,000 = 4CMS
2015-08-24 KNSAe SASS 01 &« 5,000|&8CMS
2015-08-24 KNS 23=3 Ol =* 5,000 = 4CMS
2015-08-24 KNSAe S/SS 012t 10,000(=&CMS
2015-08-24 KNS 2@=3 01 E* 10,000|2 & CMS
2015-08-24 KNSAe SASS Ol ¢« 10,000(= & CMS
2015-08-24 KNSAe SdSS Ol = 5,000 = 4CMS
2015-08-24 KNSAe SRASS Ols~ 10,000(= & CMS
2015-08-24 KNSAe SdSS 0l=* 5,000 = 4CMS
2015-08-24 KNSAe SASS Ol RH 5,000|&8CMS
2015-08-24 KNSAe SdSS Ol XH* 5,000 = 4CMS
2015-08-24 KNSAe SASS 01 =+ 5,000|&8CMS
2015-08-24 KNSAe SdSS 0l =+ 5,000 = 4CMS
2015-08-24 KNSAte 2833 B 3,000|=4CMS
2015-08-24 KNSAe SJSS g~ 5,000 = 4CMS
2015-08-24 NAAE 22 S3 SONL 10,000|2&CMS
2015-08-24 KNSAe SJSS &P+ 5,000 = 4CMS
2015-08-24 KNSAte 2833 | #x 5,000 4CMS
2015-08-24 KNSAe SJSS & Ol x 5,000 = 4CMS
2015-08-25 KNSAte 2833 H 2 10,000

2015-08-25 KNSAe SJSS Ol &t 10,000

2015-08-26 NAAE 22 S3 4R 10,000

2015-08-27 KNS Ae SJASS 2 5,000 = 4CMS
2015-08-27 KNSAte 2333 2 & 5,000 4CMS
2015-08-27 KNS Ae SJASS S * 20,000| &4 CMS
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RS RPN} SESE= S3X =N
2015-08-27 KNSAe SJASS Loll* 10,000
2015-08-27 KNSAte 2233 THS* 3,000
2015-08-27 KNS SJASS ZlE* 20,000
2015-08-27 KANSAe 2233 ZI 8k 5,000
2015-08-27 KNSAe SASS St 3,000
2015-08-27 KNSAte 2d=3 Shatx 5,000
2015-08-27 KNSAe SASS o & |+ 20,000
2015-08-27 KNS 23=3 ol 7 5,000
2015-08-27 KNSAe SASS S 3,000
2015-08-27 KNS 2d=3 S&* 10,000|%
2015-08-27 KNSAe SASS =Fak 5,000(=
2015-08-31 KNS 2SS HE* 20,000
2015-09-02 KNSAe SASS ZAl* 5,000
2015-09-02 KNS 2@=3 BH& * 5,000
2015-09-02 KNSAe SJASS Ol &f = 10,000
2015-09-02 KNS 23=3 =% 10,000
2015-09-09 KNSAe SJSS 2 E 10,000
2015-09-09 KNS 2@=3 S0l 30,000
2015-09-09 KNSAe SASS R 5,000
2015-09-09 KNS 23=3 &b 5,000
2015-09-09 KNSAe S/SS I 5,000
2015-09-09 KNS 2@=3 H2* 3,000
2015-09-09 KNAe =33 =~ 10,000
2015-09-09 KNSAe SdSS B & 10,000
2015-09-09 KNAe =33 B Al 20,000
2015-09-09 KNSAe SdSS 20+ 5,000
2015-09-09 KNSAe SASS 0l 2« 20,000
2015-09-09 KNSAe SdSS Ol » 5,000
2015-09-09 KNSAe SASS Ol =~ 5,000
2015-09-09 KNSAe SdSS Ol XH* 5,000
2015-09-09 KNSAte 2833 Ol 10,000
2015-09-09 KNSAe SJSS =&l 5,000
2015-09-09 NAAE 22 S3 TH S * 5,000
2015-09-23 KNSAe SJSS 2 Ex 5,000|=
2015-09-23 KNSAte 2833 el 3,000|=
2015-09-23 KNSAe SJSS HE* 10,000|=
2015-09-23 KNSAte 2833 ZI|* 5,000|=
2015-09-23 KNSAe SJSS 20+ 10,000
2015-09-23 NAAE 22 S3 & ahx 5,000|=
2015-09-23 KNS Ae SJASS e 10,000
2015-09-23 KNSAte 2333 e 20,000
2015-09-23 KNS Ae SJASS & 5,000
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1090 2015-09-23 KNSAe SJASS 2 0l 5,000 = 4CMS
1091 2015-09-23 KNSAte 2233 R 5,000 4CMS
1092 2015-09-23 KNS SJASS HE 3,000 =4 CMS
1093 2015-09-23 KANSAe 2233 T H~* 5,000 4CMS
1094 2015-09-23 KNSAe SASS S 100,000 &4 CMS
1095 2015-09-23 KNSAte 2d=3 &= 5,000 4CMS
1096 2015-09-23 KNSAe SASS gh2x 5,000 = 4CMS
1097 2015-09-23 KNS 23=3 Bhadx 5,000 4CMS
1098 2015-09-23 KNSAe SASS Ol &f* 10,000| 2 &4 CMS
1099 2015-09-23 KNS 2d=3 Edx 5,000 4CMS
1100 2015-09-23 KNSAe SASS Ua=iy 10,000| 2 &4 CMS
1101 2015-09-23 KNS 2SS ol 5,000 = 4CMS
1102 2015-09-23 KNSAe SASS 01 &« 10,000| 2 &4 CMS
1103 2015-09-23 KNS 2@=3 01 & * 5,000 = 4CMS
1104 2015-09-23 KNSAe SJASS 0l =~ 5,000|&84CMS
1105 2015-09-23 KNS 23=3 012t 10,000|2 & CMS
1106 2015-09-23 KNSAe SJSS Ol F 10,000(=&CMS
1107 2015-09-23 KNS 2@=3 01 E* 5,000 = 4CMS
1108 2015-09-23 KNSAe SASS Ol 5,000|&8CMS
1109 2015-09-23 KNS 23=3 Ol=x* 10,000|2 & CMS
1110 2015-09-23 KNSAe S/SS 0l =~ 5,000|&84CMS
1111 2015-09-23 KNS 2@=3 Ol XH* 5,000 = 4CMS
1112 2015-09-23 KNSAe SASS Ol RH 5,000|&8CMS
1113 2015-09-23 KNSAe SdSS esk 5,000 = 4CMS
1114 2015-09-23 KNSAe SRASS 01 &~ 5,000|&8CMS
1115 2015-09-23 KNSAe SdSS 3 3,000|=4CMS
1116 2015-09-23 KNAe =33 3 5,000|&8CMS
1117 2015-09-23 KNSAe SdSS DN 10,000|2 & CMS
1118 2015-09-23 KNAe =33 A 5,000|&8CMS
1119 2015-09-23 KNSAe SdSS ZI&* 5,000 = 4CMS
1120 2015-09-23 KNSAte 2833 9| 5,000 4CMS
1121 2015-09-24 KNSAe SJSS ol 7 100,000

1122 2015-09-25 NAAE 22 S3 d 2 10,000

1123 2015-09-25 KNSAe SJSS 20+ 30,000

1124 2015-09-25 KNSAte 2833 Ol &b 10,000

1125 2015-09-30 KNSAe SJSS 2 5,000 = 4CMS
1126 2015-09-30 KNSAte 2833 2 & 5,000 4CMS
1127 2015-09-30 KNSAe SJSS S * 10,000|2 &4 CMS
1128 2015-09-30 NAAE 22 S3 oL 10,000|2&CMS
1129 2015-09-30 KNS Ae SJASS o S 10,000|2 &4 CMS
1130 2015-09-30 KNSAte 2333 ZI|* 5,000 4CMS
1131 2015-09-30 KNS Ae SJASS e 5,000 = 4CMS
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2015-09-30 KNSAe SJASS & 5,000 = 4CMS
2015-09-30 KNSAte 2233 LS+ 20,000| &4 CMS
2015-09-30 KNS SJASS e 10,000

2015-09-30 KANSAe 2233 ot 3,000|=4CMS
2015-09-30 KNSAe SASS Rk 5,000 = 4CMS
2015-09-30 KNSAte 2d=3 Rl 20,000| &4 CMS
2015-09-30 KNSAe SASS o 5,000 = 4CMS
2015-09-30 KNS 23=3 R 10,000|2&CMS
2015-09-30 KNSAe SASS & 7* 10,000| 2 &4 CMS
2015-09-30 KNS 2d=3 H2* 5,000 4CMS
2015-09-30 KNSAe SASS & 5,000 = 4CMS
2015-09-30 KNS 2SS RSk 5,000 = 4CMS
2015-09-30 KNSAe SASS 28 5,000 = 4CMS
2015-09-30 KNS 2@=3 RS 5,000 = 4CMS
2015-09-30 KNSAe SJASS 25+ 10,000(= & CMS
2015-09-30 KNS 23=3 g7 20,000| &4 CMS
2015-09-30 KNSAe SJSS CH 224 % (=) 30,000| =& CMS
2015-09-30 KNS 2@=3 Otoh = 5,000 = 4CMS
2015-09-30 KNSAe SASS Oh&k* 5,000|&8CMS
2015-09-30 KNS 23=3 =8* 10,000|2 & CMS
2015-09-30 KNSAe S/SS S« 10,000(=&CMS
2015-09-30 KNS 2@=3 B 3,000|=4CMS
2015-09-30 KNAe =33 = ONL 3,000|&4CMS
2015-09-30 KNSAe SdSS Br=« 5,000 = 4CMS
2015-09-30 KNSAe SRASS HH 25 5,000|&8CMS
2015-09-30 KNSAe SdSS NS+ 3,000|=4CMS
2015-09-30 KNSAe SASS NIZ I+ 50,000| 2 &CMS
2015-09-30 KNSAe SdSS HE* 20,000

2015-09-30 KNSAe SASS o1&~ 5,000|&8CMS
2015-09-30 KNSAe SdSS Ol &= 20,000| &4 CMS
2015-09-30 KNSAte 2833 Ol 7+ 5,000 4CMS
2015-09-30 KNSAe SJSS Ol =+ 5,000 = 4CMS
2015-09-30 NAAE 22 S3 018l 10,000|2&CMS
2015-09-30 KNSAe SJSS Ol=x* 3,000|=4CMS
2015-09-30 KNSAte 2833 Ols~* 5,000 4CMS
2015-09-30 KNSAe SJSS 0101l 10,000|2 &4 CMS
2015-09-30 KNSAte 2833 Ol &=~ 3,000|=4CMS
2015-09-30 KNSAe SJSS (O FSE 10,000|2 &4 CMS
2015-09-30 NAAE 22 S3 Ol off 5,000 4CMS
2015-09-30 KNS Ae SJASS &~ 5,000 = 4CMS
2015-09-30 KNSAte 2333 et 5,000 4CMS
2015-09-30 KNS Ae SJASS Loll* 10,000|2 &4 CMS




ey sa3z= =7 S
2015-09-30  |NIA3 SRS =+ 3,000|@ HCMs
2015-09-30  |XI2M3l 2RAE T 20,000| & &CMS
2015-09-30  |N=A3 $R2E T 5,000 4CMS
2015-09-30  |XI2A3l 2RaE T 3,000] HCMs
2015-09-30  |NA3 2R2E 5t ot 5,000|@ HCMS
2015-09-30 [N A3l =R B2 20,000| & & CMS
2015-09-30  |NI%A3 $RIE 5171+ 5,000|@ HCMS
2015-09-30  |NA3l 2R = 3,000(& HCMs
2015-09-30  |NA3 RIS 23 10,000]& 4CMS
2015-09-30  |NoA3l =R 2 s 5,000| HCMs
2015-10-02  |NN3 2R2E 24 Al 5,000|@ HCMS
2015-10-02 [N A3l 282 i 22+ 5,000( HCMs
2015-10-02  |NN3 2R2E 0l &+ 10,000]& 4CMS
2015-10-02  |WeA3l 282 0/2i+ 5,000| HCMs
2015-10-02  |N=A3 RIS Er 10,000{& HCMS
2015-10-03  |WoA3l 282E R 100,000

2015-10-05  |XI2iAbSl 228 gri=snssd 100,000

2015-10-07  |WeA3l 82 232 10,000{5 & CMs
2015-10-07  |NN3 2R2E 25+ 30,000] & 4CMS
2015-10-07  |TiA 22 5,000| HCMs
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RS RPN} SESE= S3X =N

2015-10-22 SEASE e 20,000| &4 CMS
2015-10-22 SES3 R 5,000 4CMS
2015-10-22 SESE 2 0l 5,000 = 4CMS
2015-10-22 SES3 & 5,000 4CMS
2015-10-22 SESE ZE 3,000 =4 CMS
2015-10-22 SESS ZH~ 5,000 4CMS
2015-10-22 223 DS 100,000 &4 CMS
2015-10-22 223 &= 5,000 4CMS
2015-10-22 223 gh2hx 5,000 = 4CMS
2015-10-22 223 Bhadx 5,000 4CMS
2015-10-22 223 Ol &f 10,000| 2 &4 CMS
2015-10-22 223 Edx 5,000 = 4CMS
2015-10-22 223 Ua=gy 10,000| 2 &4 CMS
2015-10-22 223 ol 5,000 = 4CMS
2015-10-22 rek== 01 &« 10,000(= & CMS
2015-10-22 223 01 & * 5,000 = 4CMS
2015-10-22 rek== 0l =~ 5,000|&8CMS
2015-10-22 223 012t 10,000|2 & CMS
2015-10-22 rek== Ol F 10,000(=&CMS
2015-10-22 223 01 E* 5,000 = 4CMS
2015-10-22 rek== = 10,000(=&CMS
2015-10-22 223 0l=* 5,000 = 4CMS
2015-10-22 =3 Ol RH 5,000|&8CMS
2015-10-22 223 Ol XH* 5,000 = 4CMS
2015-10-22 =3 01 =+ 5,000|&8CMS
2015-10-22 223 0l =+ 5,000 = 4CMS
2015-10-22 =3 3~ 3,000|&4CMS
2015-10-22 223 g~ 5,000 = 4CMS
2015-10-22 =3 PSDNL 10,000(= & CMS
2015-10-22 223 &P 5,000 = 4CMS
2015-10-22 =3 | #x 5,000 4CMS
2015-10-22 223 2Ol 5,000 = 4CMS
2015-10-25 =3 Z0]* 30,000

2015-10-26 223 2 10,000

2015-10-26 =3 Z R 10,000

2015-10-26 223 OIOtEZ e« 1,240

2015-10-26 =3 0l &b 10,000

2015-10-28 223 2 5,000 = 4CMS
2015-10-28 =3 2 & 5,000 4CMS
2015-10-28 223 S * 20,000| &4 CMS
2015-10-28 223 S+ 10,000|2 & CMS
2015-10-28 223 oL 10,000|2 &4 CMS




RS RPN} SESE= S3X =N
2015-10-28 KNSAe SJASS oS 10,000|2 &4 CMS
2015-10-28 KNSAte 2233 ZI|* 5,000 4CMS
2015-10-28 KNS SJASS e 5,000 = 4CMS
2015-10-28 KANSAe 2233 ZE* 5,000 4CMS
2015-10-28 KNSAe SASS LS+ 20,000| &4 CMS
2015-10-28 KNSAte 2d=3 R 3,000|=4CMS
2015-10-28 KNSAe SASS Rk 5,000 = 4CMS
2015-10-28 KNS 23=3 EE 5,000 4CMS
2015-10-28 KNSAe SASS 22+ 10,000| 2 &4 CMS
2015-10-28 KNS 2d=3 & 10,000|2&CMS
2015-10-28 KNSAe SASS He2* 5,000 = 4CMS
2015-10-28 KNS 2SS RSk 5,000 = 4CMS
2015-10-28 KNSAe SASS & 5,000 = 4CMS
2015-10-28 KNS 2@=3 RS 5,000 = 4CMS
2015-10-28 KNSAe SJASS 28 5,000|&84CMS
2015-10-28 KNS 23=3 25+ 10,000|2 & CMS
2015-10-28 KNSAe SJSS =aky 20,000| =4 CMS
2015-10-28 KNS 2@=3 O +(=F) 30,000| &4 CMS
2015-10-28 KNSAe SASS Otoh = 5,000|&8CMS
2015-10-28 KNS 23=3 OF &t 5,000 = 4CMS
2015-10-28 KNSAe S/SS = 10,000(=&CMS
2015-10-28 KNS 2@=3 BrS* 10,000|2 & CMS
2015-10-28 KNAe =33 SRk 3,000|&4CMS
2015-10-28 KNSAe SdSS EONL 3,000|=4CMS
2015-10-28 KNAe =33 Bh=x 5,000|&8CMS
2015-10-28 KNSAe SdSS HH 2f 5,000 = 4CMS
2015-10-28 KNAe =33 NE* 10,000(= & CMS
2015-10-28 KNSAe SdSS NS+ 3,000|=4CMS
2015-10-28 KNSAe SASS NIZ D+ 50,000| = &CMS
2015-10-28 KNSAe SdSS 01 & * 5,000 = 4CMS
2015-10-28 KNSAte 2833 0l &~ 20,000| &4 CMS
2015-10-28 KNSAe SJSS Ol 7+ 5,000 = 4CMS
2015-10-28 NAAE 22 S3 OS] 5,000 4CMS
2015-10-28 KNSAe SJSS 0121« 10,000|2 &4 CMS
2015-10-28 KNSAte 2833 0l =~ 3,000|=4CMS
2015-10-28 KNSAe SJSS 0101l 10,000|2 &4 CMS
2015-10-28 KNSAte 2833 Ol &=~ 3,000|=4CMS
2015-10-28 KNSAe SJSS (O FSE 10,000|2 &4 CMS
2015-10-28 NAAE 22 S3 Ol off 5,000 4CMS
2015-10-28 KNS Ae SJASS &~ 5,000 = 4CMS
2015-10-28 KNSAte 2333 et 5,000 4CMS
2015-10-28 KNS Ae SJASS Loll* 10,000|2 &4 CMS




=B RS RPN} SESE= S3X =N

1300 2015-10-28 KNSAe SJASS TH = * 3,000
1301 2015-10-28 KNSAte 2233 ESEE 20,000
1302 2015-10-28 KNS SJASS ZI Bk 5,000
1303 2015-10-28 KANSAe 2233 St 3,000
1304 2015-10-28 KNSAe SASS Shafx 5,000
1305 2015-10-28 KNSAte 2d=3 o &% 20,000
1306 2015-10-28 KNSAe SASS ol 7 5,000|=
1307 2015-10-28 KNS 23=3 S=% 3,000
1308 2015-10-28 KNSAe SASS ok 5,000|=
1309 2015-10-30 KNS 2d=3 HE* 20,000
1310 2015-11-02 KNSAe SASS ZAl* 5,000|=
1311 2015-11-02 KNS 2SS BH& * 5,000
1312 2015-11-02 KNSAe SASS Ol &f* 10,000
1313 2015-11-02 KNS 2@=3 =% 10,000
1314 2015-11-09 KNSAe SJASS L& 10,000|5
1315 2015-11-09 KNS 23=3 S0l 30,000(&
1316 2015-11-09 KNSAe SJSS R 5,000|=
1317 2015-11-09 KNS 2@=3 &t 5,000
1318 2015-11-09 KNSAe SASS I 5,000
1319 2015-11-09 KNS 23=3 H2* 3,000
1320 2015-11-09 KNSAe S/SS LS 10,000|=
1321 2015-11-09 KNS 2@=3 B & 10,000|%
1322 2015-11-09 KNAe =33 BHAlx 20,000| &
1323 2015-11-09 KNSAe SdSS A0+ 5,000
1324 2015-11-09 KNSAe SRASS 0l 2« 20,000|1=
1325 2015-11-09 KNSAe SdSS Ol » 5,000|%
1326 2015-11-09 KNSAe SASS Ol =~ 5,000|=
1327 2015-11-09 KNSAe SdSS Ol XH* 5,000
1328 2015-11-09 KNSAe SASS Ol'all* 10,000
1329 2015-11-09 KNSAe SdSS =&l 5,000
1330 2015-11-09 KNSAte 2833 TH S * 5,000
1331 2015-11-20 KNSAe SJSS ZLet=ol 2 Etel 500,000
1332 2015-11-23 NAAE 22 S3 L~ 5,000
1333 2015-11-23 KNSAe SJSS 2 0lx 3,000
1334 2015-11-23 KNSAte 2833 B~ 10,000|=
1335 2015-11-23 KNSAe SJSS 2|+ 5,000|=
1336 2015-11-23 KNSAte 2833 2 E~ 5,000|=
1337 2015-11-23 KNSAe SJSS 20+ 10,000
1338 2015-11-23 NAAE 22 S3 & ahx 5,000|=
1339 2015-11-23 KNS Ae SJASS e 10,000
1340 2015-11-23 KNSAte 2333 e 20,000
1341 2015-11-23 KNS Ae SJASS & 5,000
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2015-11-23 SEASE 2 0l 5,000 = 4CMS
2015-11-23 SES3 R 5,000 4CMS
2015-11-23 SESE HE 3,000 =4 CMS
2015-11-23 SES3 T H~* 5,000 4CMS
2015-11-23 SESE S 100,000 &4 CMS
2015-11-23 SESS &= 5,000 4CMS
2015-11-23 223 B &k 5,000 = 4CMS
2015-11-23 223 Ol &t 10,000|2&CMS
2015-11-23 223 EHx 5,000 = 4CMS
2015-11-23 223 5,000 4CMS
2015-11-23 223 10,000| 2 &4 CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 223 10,000|2 & CMS
2015-11-23 rek== 10,000(= & CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 rek== 10,000(=&CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 rek== 5,000|&8CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 rek== 5,000|&84CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 =3 3,000|&4CMS
2015-11-23 223 5,000 = 4CMS
2015-11-23 =3 10,000(= & CMS
2015-11-23 223 &7 5,000 = 4CMS
2015-11-23 =3 el 5,000|&8CMS
2015-11-23 223 2Ol 5,000 = 4CMS
2015-11-24 =3 LS 500,000

2015-11-25 223 Ol &t 10,000

2015-11-26 =3 Z R 10,000

2015-11-27 223 2 5,000 = 4CMS
2015-11-27 =3 2 & 5,000 4CMS
2015-11-27 223 S * 20,000| &4 CMS
2015-11-27 =3 =iy 10,000|2&CMS
2015-11-27 223 oS 10,000|2 &4 CMS
2015-11-27 =3 ZI|* 5,000 4CMS
2015-11-27 223 HE 5,000 = 4CMS
2015-11-27 =3 ZE* 5,000 4CMS
2015-11-27 223 Z0[* 10,000|2 &4 CMS
2015-11-27 223 LS+ 20,000| &4 CMS
2015-11-27 223 & atx 3,000|=4CMS




S
{0
oy
OfY
v

o
=

ol

2015-11-27

i
r0
ol
i

o
rx
*

2015-11-27

o
0

o

IS
H
>*

oy | o

0

2015-11-27

o
o

N
*

2015-11-27

o
40

0
ro |40

S
*

0

oy | o

o
G | Ofn

2015-11-27

o

o
*

2015-11-27

o
40

IS
04 | 02
>*

oy | o

o
GiH | Ofn

2015-11-27

o
pal
*

2015-11-27

40

IS
[Pl
>*

oy | o

o
GiH | Ofn

2015-11-27

o
Lon
>*

2015-11-27

40

()
=
00
e
*
—

oy | o

o
OiH | Ofn

2015-11-27

()
_
(][]
==
>*

2015-11-27

40

[S]
o
>*

oy | o

o
GiH | Ofn

2015-11-27

Ho
oY
*

2015-11-27

10

]
>*

oy | oy

G | Ofn

2015-11-27

o

JEE
02 | ol
*

2015-11-27

10

o
pal
*

oy | oy

G | Ofn

2015-11-27

o

r

i
J
*

2015-11-27

10

T

=

o
*

oy | oy

G | Ofn

2015-11-27

o

e
04
*

2015-11-27

10

oy | oy

G | Ofn

2015-11-27

o

2015-11-27

10

oJ oy

GiH | Ofn

2015-11-27

o

2015-11-27

[0
oy

o | ot

2015-11-27

o
oy

2015-11-27

[0
oy

o | ot

2015-11-27

o
oy

2015-11-27

[0
oy

o | ot

2015-11-27

o
oy

2015-11-27

[0
oy

o | o

2015-11-27

o
oy

2015-11-27

[0
oy

[l
*

o | ot

2015-11-27

o
oy

0x | 0t
rig
*

2015-11-27

[0
oy

P
=1
ey

o | ot

2015-11-27

o
oy

*

>
£=

2015-11-27

[0
oy

Ok | Om

]
*

o | ot

2015-11-27

o
oy

vl
o
£

2015-11-27

[0
oy

H
O
o

::

Hu

m
*

o | ot

2015-11-27

o
oy

i
0 | oo
>*

2015-11-27

o
oy

O

%

o

S
*

2015-11-27

10
0

fel]
|
>*

oy | o

O

2015-11-27

o

il
@?

oy
12

44

~—




I 2355 =27 So

2015-11-27  |NoiASl SR3E s 10,000[30Ms
2015-11-27  |NoiAS SR3E & i 5,000[32CMs
2015-11-28  |NoIASl SRIE EE 30,000

2015-11-30  |NoiASl SR3E e 20,000

2015-12-02  |N°iASl SRAE 2 Al 5,000[z4cMs
2015-12-02  |XI°iASl SRS E Bl 24 5,000[52CMs
2015-12-02  |XIoiASl SRIE 0/ &+ 10,000[ 3 0Ms
2015-12-02  |XI°iASl SRS E e 10,000] & & CMS
2015-12-07  |NoiASl SRIE B ZEl 200,000

2015-12-09  |XI°iASl SRS E 23 10,000[ & & CMS
2015-12-09  |XI°iAtSl SRIE zoisiols 100,000

2015-12-09  |XI°iASl SRS E 22 5,000[52CMs
2015-12-09  |NI°iASl SRHIE 2 5,000[z4cMs
2015-12-09  |XI°iAISl SR E e R B
2015-12-09  |NI°iASl SRIE e 10,000] 5 &CMS
2015-12-09  |XI°iASl SRS E 5t 2 10,000] &4 CMS
2015-12-09  |NI°iASl SRIE 4 4 20,000{5 £CMS
2015-12-09  |XI°iAISl SRS E 210l 5,000[55CMs
2015-12-09  |XI°iASl SRIE 02 20,000{5 HCMS
2015-12-09  |XI°iASl SRS E 0/ &4+ 5,000[55CMs
2015-12-09  |NI°iASl SRIE 0/ 5,000[52cMs
2015-12-09  |XI°iASl 22 E 0/ 10,000] & 4 CMS
2015-12-09  |XI°iAtSl SRIE =T 5,000[52cMs
2015-12-09  |NoiAS SRIE =+ 5,000[55CMs
2015-12-15  |XIiAtSl SRIE o2 212 500,000

2015-12-16  |TI%AI8l 222E SrisnssdE 100,000

2015-12-18  |XI°iAtSl SRIE yele) 200,000

2015-12-22  |NoiAE SRBE 2101+ 200,000

2015-12-23  |XI°iAtSl SRIE 252 5,000[52CMs
2015-12-23  |NoiAEl SRIE 2olx 3.000[z5CMs
2015-12-23  |NoiASl SR3E 201 5,000[52CMs
2015-12-23  |NoiASl SRHAE 294 5,000[55CMs
2015-12-23  |NoIASl SR3E 2101 10,0005 & CMS
2015-12-23  |NoiASl SRHAE 2 5,000[55CMs
2015-12-23  |NoIASl SR3E 2 s 10,0005 & CMS
2015-12-23  |NoiASl SRHAE P 20,000]5 &CMS
2015-12-23  |NoIASl SR3E 2 5,000[52CMs
2015-12-23  |NoiASl SRHAE 20l 5,000[55CMs
2015-12-23  |NoIASl SR3E 25 5,000[52CMs
2015-12-23  |XI°iASl SRHAE 25 3,000[z5CMs
2015-12-23  |N°IASl SR3E 2 E 5,000[32CMs
2015-12-23  |NoiASl SRAE 25 100,000] & &1CMS
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2015-12-23 SEASE =& 5,000 = 4CMS
2015-12-23 SES3 B2 5,000 4CMS
2015-12-23 SESE g &k« 5,000 = 4CMS
2015-12-23 SES3 Ol &b 10,000|2&CMS
2015-12-23 SESE EHx 5,000 = 4CMS
2015-12-23 SESS 5,000 4CMS
2015-12-23 223 10,000| £ & CMS
2015-12-23 223 5,000 4CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 223 10,000|2&CMS
2015-12-23 223 10,000| 2 &4 CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 223 10,000| 2 &4 CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 rek== 5,000|&84CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 rek== 5,000|&8CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 rek== 3,000|&4CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 rek== 10,000(=&CMS
2015-12-23 223 5,000 = 4CMS
2015-12-23 =3 5,000|&8CMS
2015-12-23 223 5,000 = 4CMS
2015-12-28 =3 P 10,000

2015-12-28 223 Ol &t 10,000

2015-12-30 =3 2 5,000|&8CMS
2015-12-30 223 2 & 5,000 = 4CMS
2015-12-30 =3 S M= 20,000/ =4 CMS
2015-12-30 223 S * 10,000|2 & CMS
2015-12-30 =3 =iy 10,000|2&CMS
2015-12-30 223 oS 10,000|2 &4 CMS
2015-12-30 =3 ZI|* 5,000 4CMS
2015-12-30 223 HE 5,000 = 4CMS
2015-12-30 =3 ZE* 5,000 4CMS
2015-12-30 223 LS+ 20,000| &4 CMS
2015-12-30 =3 R 3,000|=4CMS
2015-12-30 223 ERaL 5,000 = 4CMS
2015-12-30 =3 H = 5,000 4CMS
2015-12-30 223 L2+ 10,000|2 &4 CMS
2015-12-30 223 R 10,000|2 & CMS
2015-12-30 223 R 5,000 = 4CMS
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1510 2015-12-30 SEASE HEx 5,000
1511 2015-12-30 SHSE S~ 5,000
1512 2015-12-30 SESE RSk 5,000
1513 2015-12-30 SHSE &l 5,000
1514 2015-12-30 SESE 25+ 10,000
1515 2015-12-30 SHSE CRal 20,000
1516 2015-12-30 223 30,000
1517 2015-12-30 2=3 5,000
1518 2015-12-30 223 2 5,000|=
1519 2015-12-30 223 8= 10,000|%
15620 2015-12-30 223 B S 10,000|=
1521 2015-12-30 223 B 3,000
1522 2015-12-30 223 EIONES 3,000
1523 2015-12-30 2A=S3 5,000|%
1624 2015-12-30 rek== 5,000|=
1525 2015-12-30 2SS 3,000]|%
15626 2015-12-30 rek== 50,000
1527 2015-12-30 2A=S3 20,000
1528 2015-12-30 rek== 5,000|=
1529 2015-12-30 2SS 20,000
15630 2015-12-30 rek== 5,000|=
1531 2015-12-30 2A=S3 5,000]|%
1632 2015-12-30 =3 10,000|=
1533 2015-12-30 rek=t 3,000
1534 2015-12-30 =3 10,000|=
1535 2015-12-30 rek=t 3,000]|%
1536 2015-12-30 =3 10,000|=
1537 2015-12-30 rek=t 5,000
1538 2015-12-30 =3 & 5,000
1539 2015-12-30 223 e 5,000
1540 2015-12-30 =3 oll* 10,000|=
1541 2015-12-30 223 TH = * 3,000|=
1542 2015-12-30 =3 ZI 8= 20,000(=
1543 2015-12-30 223 ZI Bk 5,000|=
1544 2015-12-30 =3 et * 3,000
1545 2015-12-30 223 & 5,000
1546 2015-12-30 =3 20,000
1547 2015-12-30 223 5,000
1548 2015-12-30 =3 3,000
1549 2015-12-30 223 10,000
1550 2015-12-30 =3 5,000

17,706,601




